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Paper has two sections. l/I the questions in Section A are compulsory.

Ansuter any four questions &om Section B.

Parts of quesion must be answered together.

Section A

(Cmpubory)

(a) Give the C++ syntax for the following :1 (

(, A constant f loat with the value 3.14.

(r, The function prototype of an inline fimction F1 that sgcspts two parmeten

and rctums their surn.

(lO Function prototype for a firnction that takes a reference palameter.

(iv) Declaration of a Class with a Member Template Function.

(v) Declaration for an array of pointers to integers (array holding integer pointers)

(vi) The prototype of a destructor function.
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(b) Find the errors, if any in the following C# code and rewrite the correct code(, #inc]ude<iostream>
using namespdce s td,int main ( ).

(2)

int a:5;
cout<<b<<end1,.
return 0;

(i,
)

# i nc l ude < i os t ream>
using namespace std;
int fun (int x, int y)
{ return x + y,.
l

{
l
i
{

double funiint x, int y)
return x * y;

nt main ( )
cou!<<fun ( S, 1O ) ,return 0i

(A #include <iostream)
using namespace std;
void recurs iveEunct i on o{ recurs ive Funct i on O i
l
int main ( )
{ recursiveEunction ( ) ;return 0i
)

(iv) #include <iostream>
using namespace std;
int sum(int a, int b)
.{ cout<<"Adding "<<a<<,, and"((b(<endl;
)
int main o
{ int result=sum(5,10);

cout<<nResult : "<(result<<endL ;return 0;
i
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(r) #i-nclude<iostream>
using namespace std,

)
void
{

)
private :

int speed;
string color;

\;
int nain ( )

{ Car cari
car. display O ;

)

(c) Find the output

rEasons : .

#include <iostream>
uslng namespace sEoi
i-nt mai,n ( )

{ int x=LO , Y=5, z=0,
z= x > y ? x : y > 0 ? y : 0i
cout<<"Resu1t : "<<z<<endl ;
return 0;

)

of the following C++ code after fte exenrtion by giving suitabk

i

return 0;



int main ( )
i cout<<"Resu.i.t: ,,

return 0;
I

(4)

<<power (2,5) <<endl;

352

(d) whst wilr be ttre or4pu of this prrogram ? Describe how the recursive caus i,ardrboth even and odd exponents.

#include (iostream)
using namespace stdirnt poHer(int x, int y){ cout<.<"power (.<<x<<', ,'((y((, 

) ,,<<endI,-
_lf (y == O) return 1,
llt.t:!P = por.,er-(x, y / 21 ;rt (yt2 =- 0)

return temp*tempi
el se

return x*temp*teinpi
)

(e)

u)

Write a function to search a given element in a set of N riunbes usingBlnary Search.
4

4

Section B

How can you calculafe the nmber of elernents between nro pointers pointing todifferent elements within the same array ? Write a C++ program todernonsrate this.

2. (a) Suppose p, g, rurd r are

^:^.1 
d",ii* "X,*o iJ ; li:".',y,r i,r;.istatement is executed?

p=(9--)*2;
r = 5 * p + (++g);

J
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(r) Write a fimction isprime(int n) that checks if a given number n is prime. W
a maj-n fimction that reads an integer N from the user and uses isPrime to pl
whether the number is prime or not.

(c) What is encapsulation in OOP, and why is it important ? Describe how encapsulat

helps in maintaining and securing code.

(a) Find the errors in the following program and gtve the corect statements :

(t') #incLude<iostream>

(ii)

(!!,

using namespace std;
int main ( )

{ inti:1, sum=0;
while {i <= 10)

5111 +: i ;
i++;

cout << "Sum' " << sum << endl;
return 0i

)

#include (iostream)
using namespace std;
int main ( )

t char c:100;
int num.= "HeIIo World";
cout << "Value: " <( c << endl;
cout << "Value: " << num << endl;
return 0;

# include< iostream>
usinq namespace std;
class des
{ public:

des (int x)
{ cout<< "Constructor cal1ed

value: "<(x((endl;
,I

:des (int x)
{ cout<<"hi "; }

int main ( )

{ des obj (10);
return 0;

)

with

P.T
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(6) 
Bs2z

tb) Write a program in C++ lr4y;* the following properties , 
9. Define a c.Iass ha_i-^ -_

'"o*' o..t""" 
having two data variab

ay of objects should o'*,"1ttt* 
type in private

' IrlFI tE de veiqhl". ,-i* ^ -- 
---' rw^-'!un'

. veiabres d,u 
" 

,*."ba firrd"" 

decrared in main function

in public scope. r,nod as void 'get data ()
. Inqemert 0rc

void "r"ff;:T,flfrti"T 
usins a member n'ction named

arg1nerfr. --- 
Yg i '/ ,r PUD'Ll'c scope having array of object as an

. For diqplaying the updaed value of data vari
named as ""ro II]^:::,:.* variableq creare a member firnction

create a c:.ass careo r,ru:1 
showdata() in public scope. - J

meet the folrowing *o6*.,J*Book 
to track books in a librafo,. The cta.. shoui

O Data Mernbers , 2+4+3+6=15

bookf D (an integer to uniquely identify eacl.r book).
title (a string repr*endng the title of the book).
copies (an integer to store 

.the 
number of copies of the book available). .A static integer data monb

of books created. 
er totaLBooks to keep tack of the toUI nrrnber

(r4 ConstuctorRequircment

Define a parameterized consfuck)r rn inir;-r:_^ , -
,p".ifi"J uau.r. ,;;;";;It"'to 

initialize bookrD and tltle with user-

defaurt of 0;u;;';;;*: 
of.copies is unknown, it shourd be ser to a

Define a *rr;;*"ctors 
default argrunents'

libraryBook object. This ltiatizes 
a new book object as I

copies for rhe new object. 
should increment ;';;:.:-iil::Iffi

I
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(iii)

(,,

Member Functions :

. addCopies (int n) : This firnction slrould add n copies to the copies cou

. displayBooklnfo O : This fuictim sbould display ttre bookID, ritl
and copies for each book.

. A static function getTotalBooks O that returns the total count

LibraryBook objects created.

Prograrn Requiremems :

. Create a few LibraryBook objects to test the class functionality, using t
parampterized constructor and tbe cory constructor.

. Display the infomration of each book using displayBooklnfo ( ).

Display the total nurnber of, LibraryBook objects created using

getTotafBooks O.

Write a C++ program that defines a template function max which accepts tl
paramete6 of any dafa ty'pe and retun:s the maximum of the two Val'er Test th fulcti

with int, fIoat, and char types.

Desip a C+r program to dernonsbate multilevel inlreritance using tlte following cl"qx

Class Conpany @ase Class) with attributes: company_name and locatio:

Class Team (lntermediate Class) : Inherits from Company and adds attribute

team_name and proj ect.

Class Developer (Derived Class) : Inherits from Team and adds anribute

developer_name and progranuning . Ianguage.

Use a parameterized constructors to initialize all the class attributes. Create an obj(

of Developer, and display details fron all the classes: Company, Team, a

Deve 1oper.

(a)

(r)

5.



6. (a)

(8)

nt\n";
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*include
using
clas s

|;
cfass C:
{ public:

v
{
)

i pubtic:
virtual void psint ( )

1 cout << "A::pri
l

l;
classB:publicA
( public:

void print o
{ cout (( "B::print\nr;
)

oid pr j.nt o
cout << ',C: : pring \n";

int main ( )

return

appropriate reasons.

)

What will be output of the following progrzlnl after the execution ? Specify

(ii) If the virtual keyword was removed from the print function in the

class \ what would be the output of the progmm ? Explain why.

(,
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(rr, What role fu polymorphisrn play in this code, ard how does it improve flexibilig

in an object-oriented program ?

(b)

invalid input for non-nunreric data Handle invalid operator input The prograrn should

allow the user !o fuiptf two m.rmbers and chodse an opemior, ad lt€n displE/ the rcsult

Write a C++ program tlnt perforrns basic arithmaic operations (additiorl subtractiorl

multiplicatiorL division). krclude exception handling to : Flandle division by zao. llandle

or the appropriate error message.

7. (a) Find the otsput considering the following scerurios. Give appiopriate reasons : 6

(, Suppose numPtr is a pointer to an integer ard the size of an int is 4 b,,tes.

Giverl numPtr = 5000. Whet will be the new value of numptr, if you

perfonn the following pointer ariftmetic:

numPtr=nurnPtr+3?

(r, Given the aray int arr [ ] 11,2, 3, 4 5 l and ptr is a pointer

initialized to point to the frst element of arr, what will the expression

* (ptr + 4) r€tum ?

P.T.O.
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(iii) #incl.ude <iostream>
using namespace std,.
void square (int *snum)
{ cput << "square of 10 ls ";*snum *= *snum;
)

)

" sample . txt'l in read mode

has fewer than l0 lines, it displays

3527


